(SUS) (BST)
2,000kg/cm? 4.0M 2,400kg/cm? 5.0M
mm mm kg/m cm?® mm mm kg/m cm?

32 A 427 3.0 294 347 40 30 3.00 30
40 A 48.6 3.0 337 4.62 48.6 30 3.69 46
50 A 60.5 3.0 425 742 50 3.0 381 49
4.0 557 941 50.8 3.0 3.87 50.9
65 A 76.3 3.0 542 122 60 30 4.62 7.3
40 7.13 156 4.0 6.05 9.2
80 A 89.1 3.0 6.37 16.9 63.5 3.0 490 8.2
4.0 8.39 21.8 40 6.43 105
90 A 101.6 3.0 7.29 22.3 76.2 30 593 121
40 9.63 28.8 4.0 7.80 156
100 A 1143 3.0 823 284 88.9 30 6.96 16.8
4.0 10.88 36.9 40 9.17 216
125 A 139.8 40 13.40 56.3 50 11.33 26.2
50 16.62 68.9 101.6 30 7.99 223
150 A 165.2 4.0 15.90 79.7 4.0 1054 288
5.0 19.75 97.8 5.0 13.04 349
200 A 216.3 40 20.94 139 114.3 30 9.02 284
5.0 26.05 171 5.0 14.76 449
250 A 2674 4.0 25.98 215 127 5.0 16.47 56.2
5.0 32.35 265 152.4 5.0 19.90 82.6

W (kg/m) (cm?)

(mm) D: (cm)

(mm) (cm)

JIs cm?
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q=60v (H+hy*C ( H 16)
q=120V H+h)*C ( H 16)
m)
GL
(m)
07
(L]
m)
m)
g m
(om?)
Z=(m /32) * ((D* - d*)/D) * 10¢
t)
00) (t/em?)
JT= 19 t/cm?
JT= 24 t/cm?
- = 20 t/cm?
JT= 24 t/cm?
( )
q=120* ((H + hyN1/4)) *C ( H 16 )
qr= 120 * ((H + h1/2 + h2+ hs)N(1/4)) * C  (kg/ )
gz = 120 * ((H + h2/2 + ha)"(1/4)) * C  (kg/ )
gs = 120 * ((H + ha/2)*(1/4)) * C  (kg/ )
P=gq*D*h
Pi=q D hi (ko)
P2= g2 D2 h2 (kg)
Ps=qgs Ds hs (ko)
M =P *h/2
M= P: h/2 (kg m)
Mz = Pi(hi/2) + P2 h2/2 (kg m)
Ms = Py(hi/2 + hz + h3) + P2(h2/2) + P1 hi/2 (kg m)
o =M/Z
cm? M kg m
kg m t cm
01= M/10Z: (t/ )
02= M/10Z2 (t/ )
o3= Ms/10Zs (t/ )
o/ot 10 OK o/ot 10 ouT
oot 10 cg2or 10 ogsi/or 10
( )
R
0
> M=Piy(hi/2 + h2) + P2 ha/2 - Rh2=0
R = (Py(hi/2 + h2) + P2 h2/2)/h2 R
R
Xm X
X
Mx = P1(h1/2 + x)+q2D2  x2/2 - R X
X
0 x = Mx/Zx ox/or 10 OK
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2m

4m

36

GL

2.5m

3m

14

(SGP)

SGP40A
TR

SGP65A
< SOTOOA

(BST)

SGP40A
TR

SGP65A
22T OOR

GL

1)

@)

®)

(4)

©)

@)

0]

©)

(4)

®)

(H 16)
= 120 ( 2/ 2+ 4 + 36 ) 025)x 07 = 212.6 kg/
= 120 ( 4/ 2+ 36 )Y 03 )x 07 = 2086 kg/
P.= 2126 x 0.0486 x 2 = 20.7 kg
P.= 209 x 0.0763x 4 = 637 kg
M:= 207 x 2/ 2= 207<9g m-= 207t cr
M= 207x( 2/ 2+ 4 )+ 637x 4/ 2= 2306kg m
= 231t cm
o:= 207 / 522 = 04 t/cm?
Z =(m [ 32)x( 486 - 416+ )/ 486 = 522 cm®
o2= 231 / 163 = 142 t/cm?
2= (m /0 32 )x( 7634 - 6.79¢ )/ 763 = 163 cm?
or= 19 t/cm?
oJ/or= 040/ 19 = 021 1.0 OK
oor= 142/ 19 = 0.75 1.0 OK
(H 16)
qr = 60 ( 3/ 2+ 3 + 14 05 )x 07 = 179.4 kg/
Qe = 60 ( 3/ 2+ 14) 05 )x 07 = 1654 kg/
P.= 1794 x 004x 3 = 179 kg
pP.= 165 x 006 x 3 = 298 kg
M:= 179 x 3/ 2= 224<g m= 224t cr
M= 179x( 3/ 2+ 3 )+ 298x 3/ 2= 1209kg m
= 121t cm
o:= 224 / 300 = 075 t/cm?
Z =(m [ 32)x( 44 - 344 )/ 4 = 300 cm®
o.= 121 / 92 = 131 t/cm?
Zo=(mm [ 32)x( 64 - 52+ )/ 6 = 924 cm?
or= 24 t/cm?
oJ/Jor= 075/ 24 = 0311 1.0 OK
gor= 131/ 24 = 0545 10 OK
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32

G.L

28

(STK)

STK89.1¢ x 4.2t

STK139.8¢ x 4.5t

(4)

®)

(BST)

1)

@)

SUS42.7¢ x 3t

®)

(4)

GL

®)

(H 16)
= 120 ( 4 / + 6 + 32) 025 )x 07 = 210.3 kg/
= 120 ( 6 / 2+ 32 ) 025 )x 0.7 = 2039 kg/
P. = 2103 x 0.0891 x = 656 kg
P.= 204 x 0.1398x 6 = 156.8 kg
M:= 656 x 4 / 2= 1147kg m= 1147t cr
M.= 656x( 4 / 2+ 6 )+ 1568x 55/ 2= 9066 kg m
= 907t cm
o.= 1147 / 2271 = 051 t/cm?
Z =(m / 32 )x ( 891¢ - 807* )/ 891 = 2271 cm?
o= 907 / 627 = 145 t/cm?
Zo=(mm [/ 32 )x ( 13.98 4 - 1308¢ )/ 14 = 627 cm?
or= 24 t/cm?
oJor= 051 / 24 = 0.21 10 OK
g.or= 145 / 24 = 0.60 1.0 OK
(H 16)
= 120 ( 3 /7 2+ 4 + 28 ) 025 )x 07 = 202.1 kg/
= 120 ( 4 / 2+ 28 ) 025 )x 0.7 = 196.6 kg/
P.= 2021 x 0.0427x 3 = 259 kg
P.= 197 x 0.0605x 4 = 476 kg
M= 259 x 3/ 2= 388kg m= 388t cr
R 0
M= 259x( 3/ 2+ 4)+ 476x% 4/ 2- 4R =0
R = 59.383 59 kg
Xm
Mmax= 259 x( 3 / 2+ x )- 59x+ 197 x 00605 x x> [/ 2
= 595 x2 +( ##HH# x )+ 3883
M'max : 119 x + ##H#H# =
X = 282 m
Mmax = -83 kg m: -08t cmr ( )
o.= 388 / 347 = 112 t/cm?
Z =( T / 32 )% ( 4274 - 367¢ )/ 427 = 347 cm?
o= 08 / 84 = 010 t/cm?
Z:=( T / 32 )x( 6054 - 535* )/ 605 = 8.45 cm®
Or= 2.0 t/cm?
oc./Jor= 112 / 20 = 0559 10 OK
o2or= 010 / 20 = 0.049 10 OK



No. Y15-043

DATE
= 2
= 4
H = 35.57
= 60 m/sec
= 60 V ( ) kg/
= 120 4V ( kg/
= 0.7
mm
D(1) x t(1) = 427 @ % 3.0
D(2) x t(2 = 763 @ X 35
o = 2000 kg/c
<1>-<2> Q(1) = 120 4V (L(1)/2+L(2)+H) = 303  kg/
<2>-<3> Q(2) = 120 4V (L(2)/2+H) = 297  kg/
W(1) = Q(1) x D(1) x L(1)x C = 18.1 kg
W(2) =Q(2) x D(2) x L(2) x C = 635 kg
M(1) = W(1) x L(1)/2 x 100 = 18105 kg cm

M2) = W) x (L(1)/2 + L(2) - L(S))
+W(2) x L(2)/2 x 100

21,7465 kg cm

<2> o (1) = M(1)/Z(1) = 522 kg/c o T = 2000 kg/c
( D) x t(1) - Z(1) = 347 cm3)

<3> o (1) = M(2)/Z(2) = 1561 o T = 2000 kg/c
( D) x t(2) - Z2(2) = 13.93 cm3)

60 m/sec
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